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plausible  assumptions

Assume  Kpo=1 (ust [ike ideal CMDS  invecder)
V‘Em = )\]T’,P[ (S\Immc-l—ric_ device +Hhresholds)

\’DD > \'TJn + ‘\I'I',Fl (dev (ces both on ot same +ime
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@ Suppose Yhe input  con Swing  between OV and VBD:

DN = Vpp— o V= Vpp

The owkput can on‘j Swing {rom

Do = Non = Vo = \JDD"VT}n _N’BP\ & AN

Normall\’) we want )Ogi(, gate  output swings 1o be |arger
than put swmgs (this is called level festoration) so
that foput noise affects the outpul |ess. Theveforey +hig
butfer 15 ‘f_)'_qi'_, Suitable as a fegic 30:‘1"6- Singe  AVyg <AV,
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